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THREZERREFDIEEDERICIRSIRE (KXI) (1/1)
TEZEOBBICLVERENOM EHICERT S | T REORBICLVERENO M EHIERTS T EZEOBBICKYRENOB EHICERTS | L EEORBICIVERENOM EHIZERT S
LHEESNDH LEESNDH LHREShSH LHEEShSH
TEZEDBH) SN TEED (BE) SN
N 2 .A g g = S . B.A E = N
. ;)ng%ﬁg);%?ﬁm# ThUsORSE aiffﬁo%tg*égméb\ TRAN RS . ;)rg,;;g);?ﬁﬁa% TR ORSE étmaﬁﬁ?g*ggmém TR ORSE
HMRROEM 100N/ mo% 12 2 5K 5 HRETRRORRE [100kN/mo% 8% 5K 1
ADKES TEE |HOKES| EZ |N0oKES 1EZE [HokEs| tEEZ ADXES tRE |H0oXkEE TRZE |H0oKkES 1EZ [hokxEs +EE
D3LEX OB |O3BRK OB |03LBEK 0B (03L5RK OB DO3LEX OB |03LREK 05 |03LREK 0B (038K 0B
[DEN)) [DEN)) [DEN)) [DEN)) [DEN0) [DEN0) [DEN)) NHLD
(kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m)
1 ~ 2 - - 16.80 1.00 - - 16.05 3.00 ~
2 ~ 3 - - 31.38 1.00 - - 15.92 2.98 ~
3 ~ 4 - - 4574 1.00 - - 13.55 253 ~
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TEZEOBBICLVERENOM EHICERT S | T REORBICLVERENO M EHIERTS T EZEOBBICKYRENOB EHICERTS | L EEORBICIVERENOM EHIZERT S
LHEESNDH LEESNDH LHREShSH LHEEShSH
TEZEDBH) SN TEED (BE) SN
N 2 .A g g = S . B.A E = N
. ;)ng%ﬁg);%?ﬁm# ThUsORSE aiffﬁo%tg*égméb\ TRAN RS . ;)rg,;;g);?ﬁﬁa% TR ORSE étmaﬁﬁ?g*ggmém TR ORSE
HMRROEM 100N/ mo% 12 2 5K 5 HRETRRORRE [100kN/mo% 8% 5K 1
ADKES TEE |HOKES| EZ |N0oKES 1EZE [HokEs| tEEZ ADXES tRE |H0oXkEE TRZE |H0oKkES 1EZ [hokxEs +EE
D3LEX OB |O3BRK OB |03LBEK 0B (03L5RK OB DO3LEX OB |03LREK 05 |03LREK 0B (038K 0B
[DEN)) [DEN)) [DEN)) [DEN)) [DEN0) [DEN0) [DEN)) NHLD
(kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m)
1 ~ 2 - - 100.00 1.00 - - 12.85 2.40 ~
2 ~ 3 110.36 1.00 | 100.00 1.00 - - 12.85 240 ~
3 ~ 4 - - 100.00 1.00 - - 15.67 293 ~
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LBESNDS LBESNDS LRESNDS LRESNDS
TEFO BH) BEA N o TEFO B BN o
HMRROEM 100N/ mo% 12 2 5K 5 HRETRRORRE [100kN/mo% 8% 5K 1
ADKRES THRE |HOKES TEE |HOKES 1EE [HokE: tEE ADKES tHRE |A0KES 1HRE |HOKES TRE |HOKEFS 1EE
N3LRA OBEE |035BX 0B |[03LBA 0BS |05LBK 0B D3LBA  OBE |DO3LBX 0OBS |O3LRA 0OBES [03HRK 0B
nHLO nHLO nHLO nHLO NHLO nHLO nHLO nHLO
(kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m) (kN/m2) (m)
1 ~ 2 116.90 | 1.00 | 10000 | 1.00 - - 12.09 2.26 ~
2 ~ 3 11690 = 1.00 | 10000 @ 1.00 - - 12.48 2.33 ~
3 ~ 4 11609 = 1.00 | 10000 @ 1.00 - - 12.48 2.33 ~
4 ~ 5 - - 100.00 = 1.00 - - 12.40 2.32 ~
BARBRZRDIELE SlERHh D FALE BES I-111K2168-3
HX3(&)
ETRES g hEFIS
BEYOBEDRHELGEHRICETHIEE
& REAB ALt BAL




